f(x) = €@(2x)

f(x) = 3nu(x/2)

f(x) = ouv(x)

f(x) = 20uv(x) + 1

f(x) = nu(x) + 1

f(x) = nu(x)

f(x) = -2np(2x)

f(x) = 4ouv(x/2)

f(x) = -20uv(x)

f(x) = ouv(5x) + 1

f(x) = 4ouv(x/2)

f(x) = nu(x)

f(x) = ouv(x)

f(x) = -3nu(x/2) — 1

f(x) = 20uv(x) + 1

f(x) = ep(2x)

f(x) = ouv(2x)




f(x) = -3nu(x/2) — 1

f(x) = @(x)

f(x) = ouv(5x) + 1

f(x) = -20uv(x)

f(x) = 3nu(x/2)

f(x) = -3nu(x/2) — 1

f(x) = -4ouv(3x)

f(x) = ouv(x)

f(x) = 20uv(x) + 1

f(x) = ouv(5x) + 1

f(x) = -nu(x)

f(x) = 20uv(x) + 1

f(x) = 4ouv(x/2)

f(x) = ouv(x)

f(x) = -4ouv(3x)

f(x) = -20uv(x)

£Q(2x)

f(x) = -nu(3x)




f(x) = ouv(2x)

f(x) = ouv(x)

f(x) = @(x)

f(x) = -nu(3x)

f(x) = 2o0uv(x) + 1

f(x) = nu(x) + 1

f(x) = -20uv(x)

f(x) = €p(2x)

f(x) = ouv(5x) + 1

f(x) = e@(x)

f(x) = e@(x)

f(x) = 3nu(x/2)

f(x) = e@(2x)

f(x) = -nu(3x)

f(x) = -4ouv(3x)

f(x) = ouv(x)




f(x) = ouv(x) f(x) = -20uv(x) f(x) = -3nu(x/2) — 1

f(x) = ep(2x) f(x) = -2nu(2x) f(x) = nu(x) + 1
f(x) = -nu(x) f(x) = -nu(4x) + 1 f(x) = €@(x)
f(x) = -nu(3x) f(x) = -nu(x) f(x) = ouv(5x) + 1
f(x) = -nu(x) f(x) = @(x) f(x) = -nu(3x)

f(x) = -20uv(x) f(x) = -2nNu(2x) f(x) = 4ouv(x/2)




f(x) = ouv(x)

f(x) = nu(x) + 1

f(x) = ouv(5x) + 1

f(x) = -20uv(x)

f(x) = 3nu(x/2)

f(x) = 20uv(x) + 1

f(x) = nu(x)

f(x) = ouv(2x)

f(x) = -nu(4x) + 1

f(x) = €p(2x)

f(x) = 20uv(x) + 1

f(x) = -2nu(2x)

f(x) = ouv(x)

f(x) = -3nu(x/2) — 1

f(x) = nu(x)

f(x) = 3nu(x/2)




f(x) = -2nu(2x)

f(x) = ouv(2x)

f(x) = nu(x) + 1

f(x) = -nu(4x) + 1

f(x) = -20uv(x)

f(x) = -4ouv(3x)

f(x) = nu(x)

f(x) = €@ (x)

f(x) = -3nu(x/2) — 1

f(x) = €p(2x)

f(x) = -nu(x)

f(x) = -20uv(x)

f(x) = -nu(3x)

f(x) = 4ouv(x/2)

f(x) = -4ouv(3x)

f(x) = nu(x)

f(x) = ouv(x)

f(x) = -nu(3x)




f(x) = ouv(x)

f(x) = ouv(5x) + 1

f(x) = @(x)

f(x) = -nu(3x)

f(x) = 3nu(x/2)

f(x) = -nu(4x) + 1

f(x) = 4ouv(x/2)

f(x) = -2nu(2x)

f(x) = ouv(5x) + 1

f(x) = ouv(x)

f(x) = -4ouv(3x)

f(x) = ouv(2x)

f(x) = 3nu(x/2)

f(x) = -2nu(2x)

f(x) = nu(x)

f(x) = 20uv(x) + 1

f(x) = 3nu(x/2)

f(x) = -nu(4x) + 1




f(x) = nu(x)

f(x) = 4ouv(x/2)

f(x) = -3nu(x/2) — 1

f(x) = -nu(3x)

f(x) = -2nu(2x)

f(x) = -20uv(x)

f(x) = -nu(4x) + 1

f(x) = -nu(x)

f(x) = ouv(x)

f(x) = -2nu(2x)

f(x) = ouv(x)

f(x) = nu(x) + 1

f(x) = -4ouv(3x)

f(x) = -nu(3x)

f(x) = -3nu(x/2) — 1

f(x) = -nu(4x) + 1

f(x) = -2nu(2x)

f(x) = ouv(2x)




f(x) = 4ouv(x/2)

f(x) = nu(x)

f(x) = -nu(3x)

f(x) = -20uv(x)

f(x) = -nu(4x) + 1

f(x) = nu(x) + 1

f(x) = ouv(2x)

f(x) = -nu(x)

f(x) = 3nu(x/2)

f(x) = €p(2x)

f(x) = -4ouv(3x)

f(x) = 3nu(x/2)

f(x) = -nu(4x) + 1

f(x) = -3nu(x/2) — 1

f(x) = @(x)

f(x) = 20uv(x) + 1

f(x) = -nu(x)

f(x) = -nu(4x) + 1




f(x) = -nu(3x) f(x) = -nu(4x) + 1 f(x) = -4ouv(3x)

f(x) = ouv(x) f(x) = 3nu(x/2) f(x) = ep(2x)
f(x) = -3nu(x/2) — 1 f(x) = nu(x) + 1 f(x) = ouv(x)

f(x) = nu(x) f(x) = ouv(x) f(x) = -nu(4x) + 1

f(x) = €p(2x) f(x) = -20uv(x) f(x) = €@(x)

f(x) = 4ouv(x/2) f(x) = -nu(x) f(x) = -2nu(2x)




f(x) = nu(x) + 1 f(x) = -2nu(2x) f(x) = 4ouv(x/2)

f(x) = -nu(4x) + 1 f(x) = -4ouv(3x) f(x) = 20uv(x) + 1

f(x) = -nu(3x) f(x) = ep(2x) f(x) = -nu(4x) + 1
f(x) = ep(x) f(x) = ouv(x) f(x) = ouv(2x)
f(x) = 3nu(x/2) f(x) = -20uv(x) f(x) = -nu(x)

f(x) = nu(x) + 1 f(x) = -3nu(x/2) — 1 f(x) = -4ouv(3x)




f(x) = nu(x)

f(x) = -nu(3x)

f(x) = -20uv(x)

f(x) = -nu(3x)

f(x) = -nu(4x) + 1

f(x) = ouv(2x)

f(x) = -2np(2x)

f(x) = nu(x)

f(x) = 4ouv(x/2)

f(x) = nu(x) + 1

f(x) = ouv(x)

f(x) = -nu(4x) + 1

f(x) = 3nu(x/2)

f(x) = ouv(5x) + 1

f(x) = -nu(3x)

f(x) = -20uv(x)

f(x) = ouv(2x)




f(x) = 20uv(x) + 1

f(x) = -2nu(2x)

f(x) = -nu(3x)

f(x) = 4ouv(x/2)

f(x) = -4ouv(3x)

f(x) = €@(x)

f(x) = -nu(4x) + 1

f(x) = ouv(5x) + 1

f(x) = nu(x)

f(x) = nu(x) + 1

f(x) = e@(x)

f(x) = -nu(4x) + 1

f(x) = 4ouv(x/2)

f(x) = nu(x)

f(x) = -20uv(x)

f(x) = nu(x) + 1

f(x) = €@(x)




f(x) = -4ouv(3x) f(x) = ouv(2x) f(x) = -nu(4x) + 1

f(x) = -3nu(x/2) - 1 f(x) = -nu(x) f(x) = -nu(3x)

f(x) = ouv(x) f(x) = -3nu(x/2) — 1 f(x) = 3nu(x/2)

f(x) = -20uv(x) f(x) = ouv(5x) + 1 f(x) = ep(x)

f(x) = ouv(2x) f(x) = -nu(3x) f(x) = 20uv(x) + 1

f(x) =3nu(x/2) | f(x) = -3nu(x/2) -1 f(x) = nu(x)




f(x) = 3nu(x/2)

f(x) = ouv(x)

f(x) = nu(x) + 1

f(x) = nu(x)

f(x) = -nu(4x) + 1

f(x) = ouv(5x) + 1

f(x) = -nu(3x)

f(x) = 20uv(x) + 1

f(x) = -3nu(x/2) — 1

f(x) = 4ouv(x/2)

f(x) = ouv(5x) + 1

f(x) = e@(x)

f(x) = ouv(x)

f(x) = 3nu(x/2)

-NU(3Xx)

f(x) = -3nu(x/2) — 1

f(x) = nu(x)




f(x) = ouv(x)

f(x) = nu(x)

f(x) = 20uv(x) + 1

f(x) = ouv(2x)

f(x) = 4ouv(x/2)

f(x) = -nu(3x)

f(x) = €¢(x) f(x) = nu(x) + 1 f(x) = -nu(x)
f(x) = -nu(x) f(x) = 3nu(x/2) f(x) = £@(2x)
f(x) = €p(x) f(x) = -nu(4x) + 1 f(x) = -nu(3x)

f(x) = e9(2x)

f(x) = €@(x)

f(x) = 20uv(x) + 1




f(x) = -4ouv(3x) f(x) = ouv(x) f(x) = 2o0uv(x) + 1

f(x) = -nu(x) f(x) = e(x) f(x) = 3nu(x/2)
f(x) = -2nu(2x) f(x) = ouv(2x) f(x) = -nu(x)
f(x) = -3nu(x/2) - 1 f(x) = -nu(x) f(x) = nu(x)
f(x) = 20uv(x) + 1 f(x) = nu(x) + 1 f(x) = ouv(x)

f(x) = -nu(4x) + 1 f(x) = 2o0uv(x) + 1 f(x) = 3nu(x/2)




f(x) = ouv(2x)

f(x) = -4ouv(3x)

f(x) = -3nu(x/2) — 1

f(x) = nu(x)

f(x) = ouv(5x) + 1

f(x) = -nu(3x)

f(x) = -2np(2x)

f(x) = 3nu(x/2)

f(x) = -20uv(x)

f(x) = -20uv(x)

f(x) = ouv(5x) + 1

f(x) = -2nu(2x)

f(x) = ouv(x)

f(x) = -nu(3x)

f(x) = 4ouv(x/2)

f(x) = ouv(2x)

f(x) = -2nu(2x)




f(x) = -nu(3x) f(x) = e9(2x) f(x) = -nu(4x) + 1

f(x) = ouv(x) f(x) = ouv(5x) + 1 f(x) = -nu(3x)

f(x) = -3nu(x/2) —1 @ f(x) = 20uv(x) + 1 f(x) = ouv(x)
f(x)=nu(x)+1 | f(x) = ouv(dx) + 1 f(x) = nu(x)
f(x) = -20uv(x) f(x) = -nu(3x) f(x) = 2o0uv(x) + 1

f(x) = 4ouv(x/2) | f(x) =-3nu(x/2) —1 f(x) = -2nu(2x)




f(x) = -nu(3x)

f(x) = -4ouv(3x)

f(x) = ouv(2x)

f(x) = nu(x)

f(x) = nu(x) + 1

f(x) = €@(x)

f(x) = ouv(2x)

f(x) = 3nu(x/2)

f(x) = 20uv(x) + 1

f(x) = -3nu(x/2) — 1

f(x) = -nu(4x) + 1

f(x) = ouv(x)

f(x) = nu(x)

f(x) = -nu(3x)

f(x) = ouv(5x) + 1

f(x) = e9(2x)

f(x) = nu(x) + 1

f(x) = ouv(2x)




f(x) = €@(2x)

f(x) = -3nu(x/2) — 1

f(x) = 3nu(x/2)

f(x) = 20uv(x) + 1

f(x) = -2nu(2x)

f(x) = nu(x) + 1

f(x) = €@(x)

f(x) = -nu(4x) + 1

f(x) = -3nu(x/2) — 1

f(x) = -3nu(x/2) — 1

f(x) = ep(2x)

f(x) = -2np(2x)

f(x) = nu(x) + 1

f(x) = -20uv(x)

f(x) = ouv(x)

f(x) = ouv(2x)

f(x) = -nu(4x) + 1

f(x) = 4ouv(x/2)




f(x) = -20uv(x)

f(x) = 4ouv(x/2)

f(x) = ouv(5x) + 1

f(x) = @(x)

f(x) = -nu(4x) + 1

f(x) = -4ouv(3x)

f(x) = ouv(5x) + 1

f(x) = -20uv(x)

f(x) = €@(x)

f(x) = ouv(2x)

f(x) = ouv(x)

f(x) = 3nu(x/2)

f(x) = e@(x)

f(x) = -nu(4x) + 1

f(x) = e@(2x)

f(x) = -3nu(x/2) — 1

f(x) = 4ouv(x/2)

f(x) = 20uv(x) + 1




f(x) = 4ouv(x/2)

f(x) = -20uv(x)

f(x) = -nu(4x) + 1

f(x) = -20uv(x)

f(x) = -2nu(2x)

f(x) = nu(x)

f(x) = -nu(4x) + 1

f(x) = ouv(5x) + 1

f(x) = -nu(3x)

f(x) = -4ouv(3x)

f(x) = -Nu(3x)

f(x) = ouv(x)

f(x) = -2nu(2x)

f(x) = -3nu(x/2) — 1

f(x) = -4ouv(3x)

f(x) = ouv(x)

f(x) = ouv(5x) + 1

f(x) = -nu(3x)




f(x) = @(x)

f(x) = 20uv(x) + 1

f(x) = -2nu(2x)

f(x) = ouv(2x)

f(x) = -3nu(x/2) — 1

f(x) = 3nu(x/2)

f(x) = -2np(2x)

f(x) = -nu(3x)

f(x) = -20uv(x)

f(x) = ouv(x)

f(x) = e@(x)

f(x) = 20uv(x) + 1

f(x) = 3nu(x/2)

f(x) = -3nu(x/2) — 1

f(x) = ouv(x)

f(x) = -4ouv(3x)

f(x) = €@(x)




f(x) = -20uv(x) f(x) = €@(x) f(x) = ouv(2x)

f(x) = €@(2x) f(x) = ouv(5x) + 1 f(x) = -nu(x)

f(x) = -nu(4x) + 1 f(x) = 4ouv(x/2) f(x) = 3nu(x/2)

f(x) = -4ouv(3x) | f(x) = -3nu(x/2) — 1 f(x) = -nu(x)

f(x) = €p(2x) f(x) = -20uv(x) f(x) = 3nu(x/2)

f(x) = nu(x) + 1 f(x) = -4ouv(3x) f(x) = ouv(5x) + 1




f(x) = e@(x) f(x) = -2nu(2x) f(x) = ouv(2x)

f(x) = ouv(x) f(x) =-3nu(x/2) —1 | f(x) = ouv(5x) + 1

f(x) = ouv(2x) f(x) = 4ouv(x/2) f(x) = ouv(x)
f(x) = ep(x) f(x) = 3nu(x/2) f(x) = -nu(4x) + 1
f(x) = 2o0uv(x) + 1 f(x) = ouv(x) f(x) = ouv(2x)

f(x) = -nu(4x) + 1 f(x) = -20uv(x) f(x) = -3nu(x/2) — 1




